
EHPESeries

Parallel Gripper

˗-POH liGe
Long life because a bearing is used for the

sliding part.

˗HiHI Hrip aDDVraDZ
Grip accuracy improved thanks to the mechanism

improvement.

˗HiHI Hrip GPrDe
Grip force improved because the cylinder

push force is used as the closing force.

˗"EKVsUaCle sXiUDI pPsiUiPO
2 switches are mountable so you can

check opening and closing of the levers.

The switch is compact so it does not

protrude from the main body side. 

˗.PVOUiOH aWailaCle GrPN 3 EireDUiPOs
You can select the mounting direction freely

because 3 faces have a mounting screw.

˗.PVOUiOH aEapUer is PpUiPOal
Mounting variation has been further expanded by

providing a gripper mounting adapter for each size. 
273

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙ .PEel $PEe /P�

˙*OUerOal SUrVDUVre %iaHraN
ParUT -iTU

/0

�

�

�

�

�

�

�

�

�

��

��

��

��

��

��

��

��

��

4erieT /aNe

#Pre 4i[e

10：10mm

16：16mm

20：20mm

25：25mm

/VNCer PG
4XiUDIeT

4XiUDI -eaE
8ire -eOHUI

1:1 Switch

2:2 Switches

A：1m

B：3m

"DUiPO 5Zpe

A : Single Acting Normally Open
C : Double Acting

EHPE 10 C HAE ZE135 A 2˞

��

��

��

�

�

�

��

��

�

��

�

�

�

��

�

��

��

��

�

●Detailed specifications→P.277

˔Gripper "EapUPr 5Zpe

/P $PEe� /P Gripper "EapUPr

)"& )'& 

)'&�-ɿ-arHe %iaNeUer 5Zpe

	П�� POlZ


●Switch details→P.521～528

2 Wire System Solid State Switch, Straight Type

;&��� &4��

3 Wire System Solid State Switch, Straight Type

;&��� &4ʢPʣ��

2 Wire System Solid State Switch, L-shaped

;&��� &4��

3 Wire System Solid State Switch, L-shaped

;&��� &4ʢPʣ��

˔4XiUDI 5Zpeɹ/P $PEe� /P 4XiUDI

Main Body

Head Cover

Piston Rod

Piston

Magnet

Pressure Cover

Lever

Action Lever

Fulcrum Pin

Fulcrum Pin

Press Fit Pin

Press Fit Pin

Slide Plate

Hole Locating Snap Ring

Ring

O Ring

Rod Packing

Piston Packing

Aluminum Alloy

Aluminum Alloy

Stainless Steel

Aluminum Alloy

Resin

Aluminum Alloy

Carbon Tool Steel

Carbon Steel

Carbon Tool Steel

Carbon Tool Steel

Carbon Steel

Carbon Steel

Carbon Steel

Hard Steel

Carbon Steel

NBR

NBR

NBR

/aNe .aUerial

˙SpeDipDaUiPOs

Note)  The grip force is measured at the intermediate position of the opening/closing stroke. It is an effective value

when the grip point L is 30 mm and the pressure is 0.5 MPa. 

The opening force of the single acting type indicates the spring force. 

47

120

230

388

48

121

232

392

4

8

12

14

4

8

12

14

8

24

47

78

3

13

23

38

5

18

35

60

2

4

7

14

16×23×44

22×34×55.5

26×45×66.5

32×52×76.5

16×23×44

22×34×55.5

26×45×66.5

32×52×76.5

0.15

0.1

0.1

0.1

0.35

0.25

0.25

0.25

10

16

20

25

10

16

20

25

&)P&���$

&)P&���$

&)P&���$

&)P&���$

&)P&���"

&)P&���"

&)P&���"

&)P&���"

%PVCle

"DUiOH

4iOHle

"DUiOH

/PrNallZ

0peO

'lViE

.aYiNVN 0peraUiOH PreTTVre

PrPPG PreTTVre

0peraUiOH 5eNperaUVre

-VCriDaUiPO

Pipe #Pre

.aYiNVN 0peraUiOH $ZDle

3epeaU "DDVraDZ

"ppliDaCle 4XiUDI

ʦ.Paʧ

ʦ.Paʧ

ʦˆʧ

ʦ$ZDle�NiOʧ

ʦNNʧ

Air

0.7

1.05

0～60 (No Freezing)

Not Required (Required for sliding parts of the machine)

M3×0.5（EHPE-10）

M5×0.8（EHPE-16、EHPE-20、EHPE-25）

180

±0.01

ZE, ES Type (Solid State Switch)

PrPEVDU
.aTT
ʦHʧ

.iOiNVN
0peraUiOH
PreTTVre
ʦ.Paʧ

0peOiOH�
$lPTiOH
4UrPLe
ʦNNʧ

#Pre 4i[e
ʦNNʧ

.PEel
0VUTiEe %iNeOTiPOT

	5 Y 8 Y -

ʦNNʧ

GrippiOH 'PrDe
ʦ/ʧ

$lPTe 0peO

"DUiPO
5Zpe

274

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

Parallel Gripper

EHPE Series

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙SpeDipDaUiPOs

Note)  The grip force is measured at the intermediate position of the opening/closing stroke. It is an effective value

when the grip point L is 30 mm and the pressure is 0.5 MPa. 

The opening force of the single acting type indicates the spring force. 

47

120

230

388

48

121

232

392

4

8

12

14

4

8

12

14

8

24

47

78

3

13

23

38

5

18

35

60

2

4

7

14

16×23×44

22×34×55.5

26×45×66.5

32×52×76.5

16×23×44

22×34×55.5

26×45×66.5

32×52×76.5

0.15

0.1

0.1

0.1

0.35

0.25

0.25

0.25

10

16

20

25

10

16

20

25

&)P&���$

&)P&���$

&)P&���$

&)P&���$

&)P&���"

&)P&���"

&)P&���"

&)P&���"

%PVCle

"DUiOH

4iOHle

"DUiOH

/PrNallZ

0peO

'lViE

.aYiNVN 0peraUiOH PreTTVre

PrPPG PreTTVre

0peraUiOH 5eNperaUVre

-VCriDaUiPO

Pipe #Pre

.aYiNVN 0peraUiOH $ZDle

3epeaU "DDVraDZ

"ppliDaCle 4XiUDI

ʦ.Paʧ

ʦ.Paʧ

ʦˆʧ

ʦ$ZDle�NiOʧ

ʦNNʧ

Air

0.7

1.05

0～60 (No Freezing)

Not Required (Required for sliding parts of the machine)

M3×0.5（EHPE-10）

M5×0.8（EHPE-16、EHPE-20、EHPE-25）

180

±0.01

ZE, ES Type (Solid State Switch)

PrPEVDU
.aTT
ʦHʧ

.iOiNVN
0peraUiOH
PreTTVre
ʦ.Paʧ

0peOiOH�
$lPTiOH
4UrPLe
ʦNNʧ

#Pre 4i[e
ʦNNʧ

.PEel
0VUTiEe %iNeOTiPOT

	5 Y 8 Y -

ʦNNʧ

GrippiOH 'PrDe
ʦ/ʧ

$lPTe 0peO

"DUiPO
5Zpe

275

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



)"&���

)"&���

)"&���

)"&���

15

15

15

20

"

15

15

15

17

#

3

3

3

5

$

1.3

1.3

1.3

1.3

%

10

10

10

14

&

11

16

18

26

'

11

17

21

26

G

23

34

45

52

)

17

26

35

40

*

10

14

16

20

+

16

22

26

32

,

3.4

4.5

5.5

6.6

M3×0.5×8L

M4×0.7×10L

M5×0.8×10L

M6×1×15L

-
"ODillarZ #PlU

	Y�


% $

# "

П
G

П
&

'

*

)

+ ,

�ʵП-

$PEe
5Zpe

PrPEVDU .aTTʦHʧ
	*ODlVEiOH #PlUT


��� " *

)

+ ,

�ʵП-П&

)'&���

)'&���

)'&���-

)'&���

)'&���

15

18

18

19

22

"

6

8

10

13

13

&

11

17

17

21

26

G

23

34

34

45

52

)

17

26

26

35

40

*

10

14

14

16

20

+

16

22

22

26

32

,

3.4

4.5

4.5

5.5

6.6

-
"ODillarZ #PlU 	Y�


Gripper .PVOUiOH 	Y�
 "EapUer 'iYiOH 	Y�

$PEe

5Zpe
PrPEVDU .aTTʦHʧ

	*ODlVEiOH #PlUT


H'E 5Zpe

H"E 5Zpe

ʵ
�

��
�

ʵ
�

��
�

ʵ
�

ʵ
�

��
�

П
G

ʵ
�

��
�

ʵ
�

��
�

˙0VUliOe %iNeOsiPOal %raXiOH PG Gripper "EapUPr

11

20

28

63

M3×0.5×12L

M4×0.7×16L

M4×0.7×16L

M5×0.8×20L

M6×1×25L

M3×0.5×16L

M4×0.7×20L

M4×0.7×20L

M5×0.8×20L

M6×1×25L

14

35

33

55

96

˙E⒎eDUiWe GrippiOH 'PrDe 	$lPsiOH 'PrDe 


&)P&���

� �� �� �� �� �� �� ��

��

���

GrippiOH PPiOU -  ʦNNʧ

To calculate the opening force, 

multiply the closing force value

asked in the table by the

following value.

&)P&���$ʜ����

&)P&���$ʜ����

&)P&���$ʜ����

&)P&���$ʜ����

as a coefficient. 

-iNiUaUiPO PG Hrip pPiOU -

&)P&���$ʜ��NN Pr leTT

&)P&���$ʜ��NN Pr leTT

&)P&���$ʜ��NN Pr leTT

&)P&���$ʜ��NN Pr leTT

-

8PrLpieDe

�

&)P&���

�� �� �� ��

��

��

��

��

��

GrippiOH PPiOU -  ʦNNʧ

&)P&���

� �� �� ��

��

��

GrippiOH PPiOU -  ʦNNʧ

&)P&���

� �� �� �� �� �� ��

��

��

��

��

���

GrippiOH PPiOU -  ʦNNʧ

G
ri
p
p
iO

H
 '

P
rD

e
 <

/
>

G
ri
p
p
iO

H
 '

P
rD

e
 <

/
>

G
ri
p
p
iO

H
 '

P
rD

e
 <

/
>

G
ri
p
p
iO

H
 '

P
rD

e
 <

/
>

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

0.7MPa

0.5MPa

0.3MPa

276

Parallel Gripper

EHPE Series

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



)"&���

)"&���

)"&���

)"&���

15

15

15

20

"

15

15

15

17

#

3

3

3

5

$

1.3

1.3

1.3

1.3

%

10

10

10

14

&

11

16

18

26

'

11

17

21

26

G

23

34

45

52

)

17

26

35

40

*

10

14

16

20

+

16

22

26

32

,

3.4

4.5

5.5

6.6

M3×0.5×8L

M4×0.7×10L

M5×0.8×10L

M6×1×15L

-
"ODillarZ #PlU

	Y�


% $

# "

П
G

П
&

'

*

)

+ ,

�ʵП-

$PEe
5Zpe

PrPEVDU .aTTʦHʧ
	*ODlVEiOH #PlUT


��� " *

)

+ ,
�ʵП-П&

)'&���

)'&���

)'&���-

)'&���

)'&���

15

18

18

19

22

"

6

8

10

13

13

&

11

17

17

21

26

G

23

34

34

45

52

)

17

26

26

35

40

*

10

14

14

16

20

+

16

22

22

26

32

,

3.4

4.5

4.5

5.5

6.6

-
"ODillarZ #PlU 	Y�


Gripper .PVOUiOH 	Y�
 "EapUer 'iYiOH 	Y�

$PEe

5Zpe
PrPEVDU .aTTʦHʧ

	*ODlVEiOH #PlUT


H'E 5Zpe

H"E 5Zpe
ʵ

�
��

�
ʵ

�
��

�

ʵ
�

ʵ
�

��
�

П
G

ʵ
�

��
�

ʵ
�

��
�

˙0VUliOe %iNeOsiPOal %raXiOH PG Gripper "EapUPr

11

20

28

63

M3×0.5×12L

M4×0.7×16L

M4×0.7×16L

M5×0.8×20L

M6×1×25L

M3×0.5×16L

M4×0.7×20L

M4×0.7×20L

M5×0.8×20L

M6×1×25L

14

35

33

55

96

277

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



˙-eWer 0peraUiPO aOE SXiUDI $IaraDUerisUiDs

˙SXiUDI PrPUrVsiPO %isUaODe

'Pr eYUerOal HrippiOH

&)P&���

&)P&���

&)P&���

&)P&���

0.3

0.3

0.3

0.3

0.2

0.2

0.2

0.2

0peOiOH�$lPTiOH 4UrPLe %i⒎ereODeʦNNʧ.PEel 0peraUiPO PPTiUiPO "DDVraDZʦNNʧ

#Pre 4i[e ʦNNʧ

.aYiNVN PrPUrVTiPO ʦNNʧ

П��

0

П��

0

П��

0

П��

0

①Indicates the position where you need to check if the switch is ON. Mount the switch by adjusting it in the order from ① to ④.

'Pr iOUerOal HrippiOH  

4XiUDI 0peraUiPO PPTiUiPO 	0/


4XiUDI 3eUVrO PPTiUiPO 	0''


˙SXiUDI .PVOUiOH PPsiUiPO "EKVsUNeOU .eUIPE 	'Pr %PVCle "DUiOH 5Zpe


-

The maximum switch protrusion from the switch body end face

(when the levers are full closed) is shown in the table below. 

Use these values as a guide for mounting.

3eTpPOTe
%i⒎ereODe

The distance from the position where the one side lever moves and the

switch turns on from the position where the lever moves in the reverse

direction and the switch turns off is called "response difference".

�� 0peOiOH�$lPTiOH 4UrPLe %i⒎ereODe 	0peOiOH�$lPTiOH "OHle %i⒎ereODe


Variation of the switch ON/OFF position when the one side

lever is moved in a certain direction.

�� 4XiUDI repeaU PperaUiPO pPTiUiPO aDDVraDZ

①Check the workpiece 

external gripping and 

full close.

②Insert the switch into the 

switch mounting groove 

of the main body in the 

arrow direction. 

③The LED lamp lights 

up by turning on the 

switch in the arrow 

direction.

④Fix the switch by a switch fixing 

screw at the position where the 

switch is moved 0.6 mm in the 

arrow direction from the position 

where the lamp lights up in [3].

①Check the workpiece 

internal gripping and 

full opening.

②Insert the switch into the 

switch mounting groove 

of the main body in the 

arrow direction. 

③The LED lamp lights 

up by moving the 

switch in the arrow 

direction. It goes off 

by moving it further. 

④Fix the switch at the position that 

is 0.6 mm moved from the position 

where the LED lamp lights up when 

it is returned in the arrow direction 

(reverse direction) in [3]. 

EHPE�10"˙%iNeOsiPOs

$"% EaUa prPWiEeE

278

Parallel Gripper

EHPE Series

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�10"˙%iNeOsiPOs

Depth 5

Depth 5

Depth 5

Through-Hole

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
2
1
.5

W
h
e
n
 c
lo
s
e
d
 ：

1
8
.5

＋
2
.7

　
0

　
0

－
0
.7

279

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�16"˙%iNeOsiPOs

$"% EaUa prPWiEeE

EHPE�10$˙%iNeOsiPOs

Depth 5

Depth 5

Depth 5

Through-Hole

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
2
1
.5

W
h
e
n
 c
lo
s
e
d
 ：

1
8
.5

＋
2
.7

　
0

　
0

－
0
.7

（Opening Port）

280

Parallel Gripper

EHPE Series

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�16"˙%iNeOsiPOs

Depth 7

Depth 7

Depth 7

Through-Hole

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
3
2
.5

W
h
e
n
 c
lo
s
e
d
 ：

2
5
.5

＋
2
.7

　
0

　
0

－
0
.7

281

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�20"˙%iNeOsiPOs

$"% EaUa prPWiEeE

EHPE�16$˙%iNeOsiPOs

Depth 7

Depth 7

Depth 7

Through-Hole

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
3
2
.5

W
h
e
n
 c
lo
s
e
d
 ：

2
5
.5

＋
2
.7

　
0

　
0

－
0
.7

（Opening Port）

282

Parallel Gripper

EHPE Series

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�20"˙%iNeOsiPOs

Depth 8

Depth 8
Depth 8

Through-Hole

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
4
3
.9

W
h
e
n
 c
lo
s
e
d
 ：
3
2
.5

＋
2
.5

　
0

　
0

－
0
.7

283

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�25"˙%iNeOsiPOs

$"% EaUa prPWiEeE

EHPE�20$˙%iNeOsiPOs

Depth 8

Depth 8
Depth 8

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
4
3
.9

W
h
e
n
 c
lo
s
e
d
 ：
3
2
.5

＋
2
.5

　
0

　
0

－
0
.7

（Opening Port）

284

Parallel Gripper

EHPE Series

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�25"˙%iNeOsiPOs

Depth 10

Depth 10
Depth 10

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
5
1
.3

W
h
e
n
 c
lo
s
e
d
 ：

3
7
.9

＋
2
.5

　
0

　
0

－
1
.1

Through-Hole

285

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk



EHPE�25$˙%iNeOsiPOs

Depth 10

Depth 10 Depth 10

Depth 1.5
(Positioning Hole)

（Closing Port）

W
h
e
n
 o
p
e
n
e
d
：
5
1
.3

W
h
e
n
 c
lo
s
e
d
 ：

3
7
.9

＋
2
.5

　
0

　
0

－
1
.1

Through-Hole

（Opening Port）

286

Parallel Gripper

EHPE Series

E
H

P
E

 S
e
rie

s
P

a
ra

lle
l G

rip
p
e
r

AVS Danmark ApS • Skelvej 18 • 2640 Hedehusene  •  +45 46 56 43 43 • www.avsdanmark.dk


